DIGITAL POSITIONING SYSTEMS=

SOKKI

ELECTRONICS

JIKI SCALE UNIT
JIKI 29—V 2=w K

OPERATOR’'S MANUAL
BT



| SORURMMENREBRDVEFE, BEHUALS CENET, —OBERER ]
| BRAVEEE, SRICEDERIEGE ELMET R S 0L 5 SEL

mlEd

BH, ZORMEBARE, KICRELT A,

CONTENTS
1. FEATURES .. . .cuoiisie s 1
2. NAMES AND FUNCTION OF
PARTS ... ... ... i, 2
3. INSTALLATION .............. 3
3.1 INSTALLATION PLACE
AND PRECAUTIONS . ...... 3
3.2 SCALE MOUNTING . ......, E
3.3 HEAD CARRIER
MOUNTING .............. b
3.4 CONDUIT CABLE
MOUNTING .............. 7
3.5 HEAD AMPLIFIER
MOUNTING .............. 7
3.6 CONNECTION TO THE
DISPLAY UNIT ........... 8
4. EXTERNAL VIEW DRAWINGS
AND LISTOFTYPES .......... 9
5. SPECIFICATIONS ............. 1
6. LIST OF ACCESSORIES ........12

The JIKI SCALES described in this in-

struction manual can be operated with
* the following combinations.

| R
2. BIEDRFREBEE -, 2
. E‘ﬁ'ﬁ}i ........................................ 3
3.1 BUTIBATR USEBE S oo 3
3.2 27_-”’0)3?17”7 ...................... 4
3.3 Ay FFv YT —DBAF(F oeeenn 5
3.4 A2y br—TILOERK 7
3.5 Ny K7 TOBRAFI oo 7
3.6 FT1A7L 12z y b EDIER -8
4. AT EERUBRY R b oo 9
5. ﬁ*&&o‘&& .................................. 11
B. FIRT Y Z F rriveerrimre s imsnsermessene 12

JIKI SCALEZF FRDEAEHE U TILER

DISPLAY UNIT or
DETECTOR AMPLIFIER

DU100 series
DU200 series
DU300 series
DAB400, DAB410

JIKI SCALES

JSOXXX

DU100 series
DU200 series %‘?001 .
DU300 series

DAB400, DAB410

JSOXXXHD

T& FHAL
ERTRET A R T L1232z b
IKISOALE | s ritzas09—2oy
DUI00S 1) — X I
DU200% Y — X
Ao 0 DU300 1) — X J 2iRiE
DA6400, DAB4 10
DUINOS 1) — X
DU2003 1) —X 7410011
150x x xHp | PU200= BN S

pu3on ) —x
DAB400, DABAI0 248#E




The JIKI SCALES "JSO series’ are avail-
able as High Accuracy types (HD series)
and Regular Accuracy types. These scale
units are not provided with absolute zero
points.

1. FEATURES

The JIKI SCALES "JSO series’ are high-
precision scale units which employ a
newly-developed high coercive magnetic
scale.

O The magnetic readout system provides
high vibration and oil-resistant pro-
perties.

© Being the same thermal expansion co-
efficient as iron, the scale itself provides
temperature compensation to minimize
error due to changes in temperature.

O The main body of the JIKI SCALE has
a shielded structure so that the scale
will not be affected by external mag-
netic fields.

O0To ensure better noise suppression
characteristics and improve the system
accuracy, special consideration was
given during designing so that the head
amplifier could be placed as close as
possible to the scale.

O The head amplifier and scale are assem-
bled as one unit to enable unit replace-
ment. If trouble occurs in field opera-
tion, the unit can be replaced easily and
quickly without the need to adjust the
signal.

O A mounting guide with -calibration
marks on the entire scale is provided as
standard to facilitate installation on the
machine.

JSO > ) =X (e E A EF W= Rr—iL
AZw T, SHERETBEEESSH £
T TAATLAMZy ME, ZT—ILDE
EIZ&ET, SHEMRICIZ0.54m/ 1 um TR,
ORI 5pm/ 1 0pemFTIRICH] ) $RA T 2fE
B{traun,

.% E

O JIKISCALETJS0: 1) — Z i3, L4358
FEIC & B RS TRRRE ST 2 o — v 2l L
LREREAS—La=y b TT, BRICL
L) FRoFERIZ £ D, #iRR<CE
A fEREIC Pl % S L £,

O Bhk[E L BEIRIRET, Ar—BSHi
BEREI 2 1T 3 00 TRls & gD IRE &+
BT ehtiRkET,

O JIKI SCALE# KAt —ILF il s 7 - T
BN, AEEROBEETITERA,

O P AT ARER Lo, ~v FT>7%
PRI BRD TREWAERE 2T k2 & 5
AL, AN A ZIoHT A A
EoHE L7,

O ~y FP»7EAL—NDT 2= ML
k), 2= oA ) B
TOHOLTH L WEFHEDOLENF L, F
— O BEAFER T L Rl 4 AT RE T
b

O WIS ( FAbY, BE~DRT
DBz L TLEFITT,



2. NAMES AND FUNCTION OF
PARTS

Conduit cable
ALTybr—7N

Head amplifier
~yFFT

2. BB BEE

Mounting guide
BATHAF

Scale proper
Ar—ILAAE
RI{T—
Head carrier
A~y FEeYT—
Fig. 2.1
Scale proper: R —ILAEE
The scale rod is mounted in the iron WA NT > TOPIZ AL —ay K
housing: WERTOVET,
Head amplifier: ~y FF7r7:

Amplifies the signal from the scale and
sends it to the display unit.

Head carrier:

Holds the reading head and is normally
mounted on the machine bed.

Slider:

Serves as the head carrier fixing board
during transit and as a guide for installa-
tion.

Mounting guide:
A guide rail for the slider.

Conduit cable:

A signal cable protected by a stainless
steel conduit for connecting the head
amplifier to the display unit.

Effective length marks: [¥]
Measurement is possible for the length
between these marks.

24— L DEFERIRL TT 4 A7V 4
=y McEDET,

~y FEF 77—

B~y FREHL, RULLCEET—7
ACEAHT 2T,

AS4Y—
O~y FX ) 7T—HE L RT D
Mpy4 FoEkB2IBLLET.
BAFHAF

254 F—%MWMBHA FELTHERT 28D
A4 K

arsy by—7n:

~y FPr7hbT 4 ATV 422y b &
HEZFYLARAL Yy MBI NES
r—TNTT,

FwEv—2 V]
Zne— 7 HTHETETT,



3. INSTALLATION

3.1 INSTALLATION PLACE AND
PRECAUTIONS

O Select the installation position as near
the object to be measured or the work-
piece as possible, to ensure the highest
measurement accuracy.

O Care must be taken so that the scale is
not bent or twisted on installation.

O Avoid installing the unit in a place
where the environmental conditions
change drastically due to high electric
fields, temperature changes, ferromag-
netism, etc.

O It is recommended to put a protective
cover on the scale to prevent the work-
piece from touching the scale during
machining.

0 Mount the scale so that the head carrier
faces down or sideways.

© Tools required for installation

Electric drill

Drill ¢3.3

Tap M4

Dial gauge 1/100mm

Tap handle, small
@® Screwdriver, small, medium

© Mounting accuracy
Mount the unit so that the parallelism
of each surface to the machine axis is
within the following limits.

Head carrier

~yFFEp)T— =

Attachment
THyF A

3. BAIAE

3.1 BB R USERA

O BRI & BT ARSI RS 720
TESCMITM R VT & B 25 & 1,

o FfHIDEE, A4r—iciilF, bR
BELLWEJEEL T ZE W,

O BNVE(LOBLL VAT~ ORHE BT T
S, (BRIl AR

O MIVEER TS 12 5 hetEn H 1
I21d, PRl A s—oMfHT # BitHE L #
T

o BfftofEizonTld, ~v F¥x+ T
—HF b LI & B & 9 BT T ¢
FEE W,

© MFICLELTE

BlhF U

Fn $3.3
gt M4

FTAL TN —2 1/100 mm
FoyTon P R

@k 45— A

O MAHIEE #MOMITHECHL, &EOF
TEITFROPIELINIC BE £ 5 L 5 Il
fHFTLIZ3 v,

Scale proper
Ar—IVAHE

B

N
Machine bed |[ Machine table

BErF—70 " BHF—F I

Fig. 3.1

Scale measuring surface
Scale mounting surface
Head carrier mounting surface

Q> 2

Gap between head carrier and scale proper

AT : A4 —LHsET

Bifi : A4 — A

Cifi : ~w F% )7 —Hftmm

G AR —NEkXx)T—DHM

—igi



—— - e i S
A*B within 0.1mm A-B 0.1mmbBLA
C within 0,1 mm C 0. ImmBi A
Parallelism of Band C  within 0.1mm S "
. — C A
Space between Band C 7+0.1mm g_ gm;:j:;& 2+lomn;Uﬂ
G 2.5+0.1mm » S
G D[R 2.5+0.1lmm

3.2 SCALE MOUNTING

1) Positioning * Drilling - Temporary
Fixing

By referring to the mounting hole sizes

on the scale external view drawings, deter-

mine the mounting position on the

mounting surface of the machine table,

then drill and tap the mounting holes.

Fix the scale temporarily to the machine

table using the hexagon socket head bolts

and leave it for about 30 minutes until

the scale temperature adapts itself to the

machine temperature.

M4xDepth: 8mm
M4 B X8mm

3.2 A5 —oBftlT

1) (R Rl - Ribsd

A7 —NSHEFERIC &) fufdicF s 2 e
L, #&i@h7 — 7 VI s i % gesb,
FTRE¥BU, #o7aTET,

RNARN P TR — N EBE)T—7 L
AL, #3045 TR LI 24— Lol
EEi L EvEd,

M4 Spring washer
M4 Flat washer
Mas SR EE S

M4x12 Hexagon socket head bolt
M4 x 127X BRFFI



2) Mounting

Measure the parallelism of the surface A
(surface provided with the alignment
marks @) of the temporarily fixed scale)
to the machine axis, using a dial gauge.
(Measure the parallelism at the alignment
marks.) '

Fig. 3.3

O Scales with an effective length of more
than 1000 mm should be fixed after
checking the parallelism in the vicinity
of the mounting plate location (on the
surface A) and at the alignment marks,

O If the alignment marks on the surface A
cannot be measured directly by the dial
gauge, measure the parallelism of two
directions in the vicinity of the align-
ment marks,

3.3 HEAD CARRIER MOUNTING

Prepare an attachment for fixing the head
carrier to the machine bed.

Alignment marks
FIAAN7—2

2) BmeH

kD Lo 24— LA (T54 2> bo—
7 © Dfteei) & bhE - DFETEE &
AT =SB THLET(TF4 2>
Pe—7 DR TFTEHRLET,)

Measuring
surface
BlEmE

Fig. 3.4

O H#E 1000mm LA i3 A4 BE 4 BAHE(A
ME)eTIA4 20 b 2—203 HEHR
LESELTL 728,

O AMT 74 A > b=—2hliflEy — Tl
EHEL WBAEe— 2 ER2NEL T ¢
PZE20(AF =D 2 DDEfs A i)

33 ~v FH++ Y 7—B{fHT
~y FX 2 ) T—2EEF—7 MR 3
BT wF A BB,

= Machine table
® ® EBHF—71
1 G %
i
F@@ ® .
| | L} Machine bed
BEF—F 1
Head carrier Slider 7mm+0.1mm
~YFEeUF— AT — Attachment
FHuF At
Fig. 3.5

G



e e ——————————————— e

When the scale is attached directly to the
table, the thickness of the attachment
should be 7+£0.1 mm.

(It is recommended to use shim washers
for fine adjustment of the thickness.)
Remove the two screws on the scale pro-
per side of the slider so that the head
carrier is free from the scale.

After the attachment has been prepared,
move the head carrier to the desired
mounting position.

Drill the mounting holes at the mounting
position on the machine bed.

ATr—NE_F I T2, oo F2
YrOEE(E, 7H0. lmm 27 7,
(EEOMBKIZL LT v o v —%2FHA
WTER TT,)

ATF—NE~y Fxx ) T—DBEERZS 4
F—=DAr—NWORMFITfal 2 4 % st L
T~y Fx e ) 7—AEHBICEIC L9zl %
T
TEZovF2A 2 F2HE LI~y FX o )T
— 2R o wiiBicb > TE X T,

B 7 — 7 L O RATBET I AT 2 31T TR
fHr 3,

~AYFFPYT—

Max22 Hexagonal socket head bolt
| ?@6 M4 x 22 AL

Machine bed—

BEF—71n f‘,gﬁ’:‘j?t M4 Flat washer  Md4/\xE&
M4 Depth: 10mm M4 Spring washer M4 B &
M4ZRZ 10mm

Fig. 3.6

Remove the slider after mounting.
Check the gap (G) between the scale pro-
per and the head carrier by inserting the
provided thickness gauge.

Gap (G) allowance 2.5+0.1mm

BT h - fe b 254 57— WL 27,
A —E~y FXx e ) T—HOX v v 7(G)
EMNEmOL LEMAL THERL TSN,
X+ v 7(G)NIFEMIZ 2.5+0. 1mm TF.



3.4 CONDUIT CABLE MOUNTING 3.4 arw b =7 L0ER

Connect the conduit cable connector to ~y FPr7lcadzd—%#4L, 2>
the head amplifier and tighten the four w b =T NAFR D HE 2 s THAFT A
bolts with the hexagonal wrench. L4 RERFTET,

Head amplifier
Ay RTP T

M2.5x8 Hexagonal
socket head bolt
M2.5X8
AAATRILE

Connector i '
79— Conduit cable wf::r?t? na
aALLybr—7 RNAEER
Fig. 3.7

35 HEAD AMPLIFIER MOUNTING 3.5 ~ny FP7OmT
Mount the head amplifier and cables in a ~y FT 713, MEEIZh b hwii &84T
place where they will not interfere with WAHT T ¢ &,
the moving parts of the machine. (~y FP > 713 BESI > T ) 2395,

(Although the head amplifier is of the : : S
- s B P La R e <
enclosed type, avoid mounting it in places ??!}T DRI DR LB BT

where coolant or swarf will reach.)
M4x8 Hexagonal socket head bolt (2 pes.)

M4 X8 KA
M4 Spring washer (2 pcs.)

Head amplifier
mounting plate MA/SHEER 2 g:zgtl}!::::gggﬁi
AP TRIHR &
$8 Cable M4 X8 RENFHILL
retainer ?‘Mtl Flat washer

M4 Depth: 8mm
M4aEZ8mm

M4 Flat washer
M4 TFER

M4x8 Hexagonal

M4 Depth: 8mm
MA;EE8mm

socket head bolt :
MEX8 ABARMFILEIZA M4 Dapth: Bmm
M4EZ8mm
¢5 Cable retainer
r—TF AR~
Fig. 3.8



3.6 CONNECTION TO THE DISPLAY
UNIT

The connector on one end of the conduit
cable is connected with the head ampli-
fier as described in 3.4. Connect the con-
nector on the other end of the conduit
cable with the specified axis on the dis-
play unit.

Note 1: Be sure to connect or disconnect
the conduit cables only after
turning the power off.

Note 2: Tighten the mounting screws of
the connector securely.

Note 3: Connect the attached grounding
wire to the machine body for
earthing.

Note 4: Mount the conduit cable away
from power cables.

3.6 FAXA7 L1z v b EDER

~y FP>Flc2%witar vy bes—70

DEMDIRTI—%T 4 A7 {2=y }

DIFEE LR L £ T,

1 AT, A LRIC i3, 2% &5 3 POWER
A4 v FEOFFICLTHh biT-oTL A
v,

{2 a4 77 —DRt A P IIMECEEL T
(%

E3 T—AMUT, BRI EEL, Sl
TLEB W,

HEd a2y br—700E, W& E IR
BHL T &,



%— —_

4. EXTERNAL VIEW DRAWINGS 4. BWTERRUERY X b
AND LIST OF TYPES (H%E 200~1000)

(Effective length 200—1000mm)

Units: mm
" I 7
TR ety [ 2]
o i : Vi 1 SSe—
Y © L ¢ ;i
\-2—w5 P D e s
L (M4 %12 Bolis) 66 (M4 x 22 Bolts)
P
L
Fig. 4.1
. Scale overall Maximum SO
Type Effective length movable length | Mounting pitch
B length Ar—Ne R BATEE BiFEyF
gk
L P
JS0020 JS0020HD 200 350 220 340
JS0025 JS0025HD 250 400 270 390
JS0030 JS0030HD 300 450 320 440
JS0035 JS0035HD 350 500 370 490
JS0040 JS0040HD 400 550 420 540
JS0045 JS0045HD 450 600 470 590
JS0050 JS0050HD 500 650 520 640
JS0055 JS0055HD 550 700 570 680
JS0060 JS0060HD 600 750 620 740
JS0065 JS0065HD 650 800 670 790
JS0070 JS0070HD 700 850 720 840
JS0075 JS0075HD 750 900 770 890
JS0080 JS0080HD 800 950 820 940
JS0085 JS0085HD 850 1000 870 990
JS0090 JSO090HD 900 1050 920 1040
JS0095 JSO0095HD 950 1100 970 1090
JS0100 JSO100HD 1000 1150 1020 1140




(Effective length 1100—1200mm)

(H#E& 1100~1200)

Units: mm
A
10
Vaz R2.5 i
T 8
& . " { -
l Fa @ ,‘v Vi ) w Iy I
' °p ele |7 1.3
A ; 5
§ I / 3 S
B AR | §
2-¢55 N L .
(M4 x 12 Bolts) 42 18 7
= 2-$5.5x$8.5x5.5F
e (M4 x 22 Bolts)
P
L
Fig. 4.2
Location of
Scale Maximum : hole on
Effective overall movable Moglr{::r:ng mounting
Type length length length L plate
2 "AWER Ar—iek | BRKUBHE Bty | TERERHR
BEEIL i
k P A
JS0110 JSO0110HD 1100 1250 1120 1240 625
Js0120 JS0120HD 1200 1350 1220 1340 675

B [



5. SPECIFICATIONS
Effective length:

Total length:

Maximum movable length:

Scale accuracy (20°C):

Parallel installation tolerance:
Thermal expansion coefficient:
Display resolution:

Operating temperature:
Storage temperature:

5. BMABRULLAR
" % K

& B HER - )AL BR

ek )

See the external view drawings and lists.

. 5]
Regular type (JMAS first class) (5 + 3000 L) um

: 3
High accuracy type (HD type) (3+ 7000 L)um
L: effective length (mm)
0.1mm
11 x 10" mm/°C

5um/10um (Regular type), 0.5um/1um (HD type)

(The resolutions show the values obtainable in combina-
tion with the display unit.)

0°C to +45°C

-10°C to +50°C

& o ; 5
Ao —VHHE Wl (IMASTRUHS) (5+85 L) #m

(20°C) ) 3
BRI (HD 7 4 7) (3+q57 L) em
Liz &% (mm)
AFE AT 0.1lmm
BARE R R E 11X10-%mm/°C
T/ N HUE S5pm/10pm(¥5E M%), 0.5pm/1pm(HD % 4 7°)

(BL, 42 7v4a=y |} toilasdbeditTT.)

2 AL i PR 0°C~45°C

PR it BE 1 P —10°C~50°C

T



6. LIST OF ACCESSORIES/{+@&Y X b

;ﬁ’; 0010-0100 | 0110-0120

Hexagonal socket head bolt RARGELE

M4 x8 M4 x8 6

M4x12 M4 x |12 9

M4 x 22 M4 x 22 2 2
Flat washer FES

For M4 MaF 8 9
Spring washer INRES

For M4 M4 6 7
Thickness gauge BRE L 1
Cable retainer r—7IL4R

¢8 $8F 3 3

5 $5H
Hexagonal wrench NAERNS

For M4 M4 1 1
Conduit cable unit Dy r—7 N —=

Cable =T 1 1

Sealing AVE 1 1
Hexagonal socket head bolt ABRFRILL

M2.5x8 M25x8 4 4
Hexagonal wrench RAER

For M2.5 M2.58 1 1
Instruction manual Bl RA 1 1

The specification and appearance of the
products may be changed for improve-
ment and may differ from those appear-
ing in the catalogs and in the instruction

manual.

723,

L

BB BOREOMS - BRI+ 2
Z2HIZDRICHIZE - R 21T->TH N £,
MO RDIzbh 50 7« RIBFW K
FEESLRLDBALBN T TOTTT KRS



SOKKIA CO,LTD.

INTERNATIONAL DEPT. ,
10-1, HACHIMANYAMA 1-CHOME, |
SETAGAYA-KU, TOKYO, 156 JAPAN
PHONE 03-3302-7033

FAX. 083-3302-7133

A= Y= S

sTRIEZRS
SOKKIZ 5%

REEEMR
BEAREEMR
KRS %R
BEHEEEM
N R e
E/EE xR
b—EXR

RRBEAXEsB1-1-1 T151
TEL.03-3465-5790 FAX.03-3465-5796
BERASHAREIZTES15 T331
TEL.O48-668-3013 FAX.048-668-3010
RIKERBRAFHBEI260 63 T243
TEL.0462-48-4089 FAX.0462-47-6866
ABRMIEIIE+=%52-19 F532
TEL.06-303-3668 FAX.06 303-3763

BLEMTREXESFE2-70 T464
TEL.052-782-9111 FAX.062-782-9110

LEMBARCEARE2-16-10 FT733
TEL.082-274-3606 FAX.082-274-3741

BEHESXEFS2-1-31 T812
TEL.092-473-5761 FAX.092-431-0441
I REAHRATHB260-63 T243
TEL.0462-48-4089 FAX.0462-47-6866



SOKKIA CO,LTD.

1-1, TOMIGAYA 1-CHOME,

SHIBUYA-KU, TOKYO 151, JAPAN

PHONE 03-3465-5211 FAX.03-3465-5203
TELEX SURSOK J28518

KREHYVFF
RRBEEEESE1-1-1 T1651
TEL.03-3465-5211
FAX.03-3465-5203 |

91.06.10.0 Printed in Japan



